Model Question Paper
Class-XII (SOS) (Session : 2020-21)
Subject-Geography

Time Allowed : Z hrs Maximum Marks : 75
Henefl weETg ST Wl | S R |

Candidates are required to answer in their own words as far as practicable.
T Y % o 3H | Rl T €

Marks alloted to each question are indicated against it.

fagra fer:

Special Instruction:

() T o TR I EA S Y T T T ERME T §, S Gfkdeh
W o w9 weA fo s €
While answering your question, you must indicate on you answer-
book the same question number as appears in your question paper.

(i) Tf 99 eifEr €
All questions are compulsory.

(iii) FTes o STRET % T 1 A &= S
Credit will be given to the use of maps and diagrams.

(iv) ST STR-gfeeht | @ret 9= /9= | i
Do not leave blank page/pages in your answer-book.

(v) Tores qen s & Y wEfeEl 1wt STR-giEe § S
Securely tie the outline map of world and India along with answer-
sheet after filling.
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1. HER A 9RA % 1@ qEtas | =T uie i e 1x5=5

() IS = HEH (ii) ==feis

(iii) AR (iv) =T =T

(v) oIR HeEdd (vi) Taemarae=

(vii) Shierehra

Show any five on the outline map of world and India.

(i) Prairies Grass land (i1) Newzealand

(iii) Moscow (iv) Narmada Rive
(v) Thar Desert (vi) Vishakha patnam

(vii) Kolkata

2. THUE F 15 9T & : T 9T 1 3k HI ], F o4 9 H 4 faspea § |
O H Y UF T E, TR SW A w9 FIFC | 39 I § T R
I AT S TET 3 R 1x15=15
This question has 15 parts. Each part carries 1 mark, Each part has

four alternatives and one of them is correct select the correct anwer,
No marks will be given on cutting in the answer.

() = forg e ® 9Ra &t smeen | s gig 9 T
(F)ad 1921 | Tea (@) =9 1921-1951
(1) a9 1951-1981 (&) =9 1981 & TEE

Which one of the following period had witnessed the rapid
growth of population in India.

(a) Before 1921 (b) 1921-1951

(c) 1951-1981 (d) After-1981
(i) YRa ¥ S Y9 % T HRS =M |

(a)ﬁn&n (@) =R

(1) TSR (=) foame
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Which one of the following is the main reason for female migration
inIndia?

(a) Education (b) Business
(¢) Employment (d) Marriage
(i) Fr=1 7 19 =t By Toor iy =
() = (@) =
() g () =
Which one of the following is not a plantation crop?
(a) Tea (b) Sugarcane
(¢) Wheat (d) Rubber
(iv) T8, < 9 G9! & fHIR ford YR ) Sl o8 St § |
(%) TR (@) wE
(1) shrd (&) dH

v)

Which type of settlement develop along the either side of river,
canal and roads.

(a) Circular (b) Linear

(¢) Crosss shaped (d) Star shaped

IreoT &1 H Y8 T W 4R STH arelt sfifein foRe ey e it 772
(%) rafiss (@) fadit=

(1) g (=) =g

Which one of the following types of economic activities domi-
nates in the rural settlements?

(a) Primary (b) Secondary

(¢) Tertiary (d) Quanternary
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i) = ween ° 9 fre o fasga anfosg st 6y =161 1 it §72
(%) eifte & FAe & U & (@) Sl & v 9
(1) JUE R &= (%) oA afem
Which region does not follows the commercial grain forming.
(a) Prairies plain of America and Canada
(b) Pampas region of Arz
(c) Stapies of Europe
(d) Amazon Basin

(vii) YRER &5 ° I 9 SsH-wnfa e Fdt @2

(=) i (@) T

() At (=)o@

Which tribe live in Bharmour region?

(a) Bhariya (b) Gaddi

(c) Mariya (d) Bheel
(Viii)ehIT |1 TR WRd 1 Hod 8] TR §7

() =T (W) IR

() feeet () T

Which city in India is the largest city?

(a) Chennai (b) Kolkata

(c) Delhi (d) Mumbai
(ix) Frer § & 2 o g onfvies fa 37

(%) FfH (@) T8

(1) =R () wmwe
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(x)

(xi)

Which one of the following is a Tertiary Activity?

(a) Agriculture (b) Weaving

(¢c) Trade (d) Hunting

Trafafaa frammamd § 9 =19 @ e nafis I & fEma

HeA &7

(%) 31T WA (@) == fE

(1) AT TFST () el g

Which one of the following is not a secondary activity.

(a) Iron and steel (b)  Clothing manufacturing
(c) Fishing (d) Basket making
frefafed o & wF-w1 TR aqef Je=x 9 gt €2
() Tores fafmro (@) favg fgemet A

(1) TSt TR = ol fEier (W) YRRl T R
Which one of the following is a quanternary activity?

(a) Computer manufacturing (b) Teaching in university
(¢) Manufacturing of paper (d) Printing of books

(xii) 2011 St SHTIAT % STIR 9RG H SHEd TTEEA 97 ¢

() 216 (@) 382
() 221 (=) 350
In 2011 Census, the Indian population density is:
(a) 216 (b) 382
(c) 221 (d) 350
(xiii) ¥R & T T | Haifees e T
() ST T2 (@) fead =
(1) (%)
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Which state have the maximum population in India?

(a) Utter Pradesh (b) West Bengal
(¢c) Keral (d) Punjab

(xiv) e T o waifaes famgama &2
() (@) fedr=a 33@
SOREIC (&) dfterrg
Which state have the highest sex-ratio.
(a) Kerala (b) Himachal Pradesh
(c¢) Punjab (d) Tamil Nadu

(xv) 9 ! SHEET g LT
() 15.3% (@) 17.3%
() 19.3% (") 213%
The population growth rate of India.
(a) 15.3% (b)) 17.3%
(¢) 19.3% (d) 21.3%

3. SIS HeRA [ I SRSl S faer= St |
Explain the three stages of population transition. 5
3{Uat Or

STEE faaeor s geferd s o Rl i e & |

Describe the factors affecting the population distribution.
4. FSAdTE T TR0 & iy IYEE e § SRR T S |

Make a distriction between live stock farming and commercial
livestock farming.
e Or
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amegfrer enfefer fasma o Tar &= f T sk gfg =t ==t wifew |

Discuss the significance and growth of service sector in modern
economic development. 5

. YR H SO U9 i s faaeor st faa=m 1|

Discuss the spatial distribution of population density in India. 5
31T Or
STl HYR Yeie 1 ¥ 2 4 I8 g Ao fashr o weergul §72

What is water resources management? Is it important in sustain-

able nutritional development.

. T S TR S ST T |

Explain the differences between rural and urban settlement. 4
3t Or

IRd H Tome arHtor S % e TRt 1§ 2

What is the main occupation of large rural population in India.

. T ST o G Siaed Hid-hiH 9§72

What are the important patterns of rural settlements? 4
e Or

AT % SMER T TR & T YhR - o § 7

What are the different forms of cities based on their functions.

. ST TR rishe o SIS Ty 1 872
What are the social benefits of tribal development program? 4

. T T foeRr Bt Heheu T | o ST § 2

What is meant by sustainable nutritional development? 4
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19..

20.

IRA 99 <9 H T Y Afa TR wt Aavawa #i 22

Why is there a need to adopt an intensive agricultural policy in a

country like India.

A s AR |

Define Human Geography.

TS el o 94T iF HiF H §?2

What are the sub-fields of Human geography?
SEEAT Heled | 1 A 7

What do you mean by population composition.
SHEE g < 9 & Aty §7?

What do you mean by population growth rate?
e &1 % &7 YHRE HHA-HA G €2

What are the main types of human settlements?
HER | 1 A &2

What does metropolis mean?

ST T | A g7

What does population density mean?

YA & fdey qe 79y § ST T A |
Explain the Push and Pull factors of migration.
feATIara S w91 S 82

How is the sex-ratio is calculated?

T o1 gfg o o T & |

What is the difference between growth and development?
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